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Test Series: September, 2022 

MOCK TEST PAPER 1 

FINAL COURSE: GROUP – I  

PAPER – 1: FINANCIAL REPORTING 

Question No.1 is compulsory.  Candidates are required to answer any four questions from the 

remaining five questions. 

Wherever necessary, suitable assumptions may be made and disclosed by way of a note.  

Working notes should form part of the answers. 

Time Allowed – 3 Hours Maximum Marks – 100 

1. Company X is engaged in the business of exploration & development of Oil & Gas Blocks.  It currently 

holds participating interest (PI) along with other companies in below mentioned producing Block as 

follows: 

Block Name Company X Company Y Company Z Total 

AWM/01 30% 60% 10% 100% 

For the above Block, Company X, Y & Z has entered into unincorporated Joint Venture. 

Company Y is the Operator of the Block AWM/01.  Company X and Company Z are the Joint 

Operators.  Company Y incurs all the expenditure on behalf of Joint Venture and raise cash call to 

Company X and Company Z at each month end in respect of their share of expenditure incurred in 

Joint Venture.  All the manpower and requisite facilities / machineries owned by the Joint venture and 

thereby owned by all the Joint Operators.  

For past few months, due to liquidity issues, Company Z defaulted in payment of cash calls to 

operators.  Therefore, company Y (Operator) has issued notice to company Z for withdrawal of their 

participating right from on 1.4.20X1.  However, company Z has filed the appeal with arbitrator on 

30.4.20X1.  

Financial performance of company Z has not been improved in subsequent months and therefore 

company Z has decided to withdraw participating interest rights from Block AWM/01 and entered into 

sale agreement with Company X and Company Y.  As per the terms of the agreement, dated 

31.5.20X1, Company X will receive 33.33% share & Company Y will receive 66.67% share of PI rights 

owned by Company Z. 

Company X is required to pay ` 1,00,000 against 33.33% share of PI rights owned by  

Company Z. 

After signing of sale agreement, Operator (company Y) approach Government of India for modification 

in PSC (Production Sharing Contract) i.e. removal of Company Z from PSC of AWM/01 and 

government has approved this transaction on 30.6.20X1.  Government approval for the modification in 

PSC is essential for the given industry in which the joint-operators operate.  
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Balance Sheet of Company X and Company Z 

Particulars 
Company X Company Z 

31.5.20X1  30.6.20X1 31.5.20X1 30.6.20X1 

 ` ` ` ` 

Assets     
Non-Current Assets     
Property, Plant & Equipment 5,00,000 10,00,000 1,50,000 3,00,000 

Right of Use Asset 1,00,000 2,00,000 10,000 20,000 

Development CWIP 50,000 1,00,000 50,000 1,00,000 

Financial Assets     
   Loan receivable    25,000     50,000    25,000    50,000 

Total Non-Current Assets 6,75,000 13,50,000 2,35,000 4,70,000 

Current assets     
Inventories 1,00,000 2,00,000 15,000 30,000 

Financial Assets     
   Trade receivables 1,50,000 3,00,000 50,000 1,00,000 

   Cash and cash equivalents 2,00,000 4,00,000 1,00,000 2,00,000 

Other Current Assets  2,25,000      50,000    25,000    50,000 

Total Current Assets  6,75,000   9,50,000 1,90,000 3,80,000 

Total Assets 13,50,000 23,00,000 4,25,000 8,50,000 

Equity and Liabilities     
Equity     
  Equity share capital 3,00,000 3,00,000 1,00,000 1,00,000 

  Other equity 2,00,000 3,00,000   75,000 2,50,000 

Total Equity 5,00,000 6,00,000 1,75,000 3,50,000 

Liabilities     
Non-Current Liabilities     
Provisions 4,00,000 8,00,000 1,00,000 2,00,000 

Other Liabilities 1,50,000 3,00,000    50,000 1,00,000 

Total Non-Current Liabilities 5,50,000 11,00,000 1,50,000 3,00,000 

Current Liabilities     
Financial Liabilities     

   Trade Payables   3,00,000   6,00,000 1,00,000 2,00,000 

Total Current Liabilities   3,00,000   6,00,000 1,00,000 2,00,000 

Total Liabilities 13,50,000 23,00,000 4,25,000 8,50,000 

Additional Information: 

1. Fair value of PPE & Development CWIP owned by Company Z as per market participant approach 

is ` 5,00,000 & ` 2,00,000 respectively. 

2. Fair value of all the other assets and liabilities acquired are assumed to be at their carrying values 

(except cash & cash equivalent).  Cash and cash equivalents of Company Z are not to be acquired 

by Company X as per the terms of agreement. 

3. Tax rate is assumed to be 30%. 
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4. As per Ind AS 28, all the joint operators are joint venturers whereby each parties that have joint 

control of the arrangement have rights to the net assets of the arrangement and therefore every 

operator records their share of assets and liabilities in their books.  

You need to determine the following: 

1. Whether the above acquisition falls under business or asset acquisition as defined under business 

combination standard Ind AS 103? 

2. Determine the acquisition date in the above transaction? 

3. Prepare Journal entries for the above-mentioned transaction? 

4. Draft the Balance Sheet for Company X based on your analysis in Part 1 above as at acquisition 

date.  

5. Is this a case of step acquisition? Explain. (20 Marks) 

2. (a) A Limited is engaged in the manufacturing of certain specialized chemicals.  During the 

manufacturing process, certain wastewater is produced which is released by A Limited in the 

nearby river.  To reduce pollution of the rivers, the state government has introduced a scheme 

with the following salient features:  

• If a manufacturer installs certain pre-approved wastewater treatment plant, the 

government will provide an interest free loan equal to 50% of the cost of the plant;  

• Such loan will be repayable to the government in 5 years from the date of disbursal;  

• The manufacturer availing the benefit of this  scheme must treat the wastewater of its 

factory using the specified plant before releasing it to the river.  If this condition is 

violated, the entire loan shall become immediately repayable to the government along 

with a penalty of ` 10 lakh.  

 Cost of the wastewater treatment plant to be installed to avail the benefit of the scheme is  

` 50 lakh.  A Limited decided to utilise this scheme because, if it were to obtain the similar loan 

from a bank, it would be available at a market interest rate of 12% per annum.  Accordingly,  

A Limited applied for and obtained the government loan of ` 25 lakh on 1st April, 20X1.  A Limited 

purchased and installed the plant such that it became ready for use on the same date.  

 A Limited has an accounting policy of recognising government grant in relation to depreciable 

assets in the proportion of depreciation expense.  It has determined that the plant will be 

depreciated over a period of 5 years using straight-line method.  In the month of March, 20X3, 

government officials conducted a surprise audit, and it was found that A Limited was not using 

the wastewater treatment plant as prescribed.  Accordingly, on 31 st March, 20X3, the government 

ordered A Limited to repay the entire loan along with penalty.  A Limited repaid the loan with 

interest and penalty as per the order on 31st March, 20X3.  

 Measure the amount of government grant as on 1st April, 20X1.  Determine the nature of the 

government grant and its accounting treatment (principally) for the year ended 31 st March, 20X2.  

Also determine the impact on profit or loss if any, on account of revocation of government grant 

as on 31st March, 20X3.  (12 Marks) 

(b) From the following data of Galaxy Ltd., prepare statement of cash flows showing cash generated 

from Operating Activities using direct method as per Ind AS 7: 

 31.3.20X2 

(`) 

31.3.20X1 

(`) 

Current Assets:    

 Inventory 1,20,000 1,65,000 

 Trade receivables 2,05,000 1,88,000 

 Cash & cash equivalents 35,000 20,500 
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Current Liabilities:    

 Trade payable  1,95,000 2,15,000 

 Provision for tax 48,000 65,000 

 

Summary of Statement of Profit and Loss      ` 

Sales 85,50,000  

Less: Cost of sales (56,00,000) 29,50,000 

Other Income   

Interest income 20,000  

Fire insurance claim received    1,10,000   1,30,000 

  30,80,000 

Depreciation (24,000)  

Administrative and selling expenses (15,40,000)   

Interest expenses (36,000)  

Foreign exchange loss     (18,000) (16,18,000) 

Net Profit before tax and extraordinary income   14,62,000  

Income Tax       (95,000) 

Net Profit     13,67,000 

Additional information: 

(i) Trade receivables and Trade payables include amounts relating to credit sale and credit 

purchase only. 

(ii) Foreign exchange loss represents increment in liability of a long-term borrowing due to 

exchange rate fluctuation between acquisition date and balance sheet date.  (8 Marks) 

3. (a) A Ltd. is a company which is in the business of manufacturing engineering machines and 

providing after sales services.  The company entered into a contract with Mr. Anik to supply and 

install a machine, namely 'model pi' on 1st April 20X1 and to service this machine on  

30th September 20X1 and 1st April 20X2.  The cost of manufacturing the machine to A Ltd. was  

` 1,60,000.  

 It is possible for a customer to purchase both the machine 'model pi' and the maintenance 

services separately.  Mr. Anik is contractually obliged to pay A Ltd ` 4,00,000 on 1st April, 20X2.  

 The prevailing rate for one-year credit granted to trade customers in the industry is 5 percent per 

six-month period.  

 As per the experience, the servicing of the machine 'model pi' sold to Mr. Anik is expected to 

cost A Ltd. ` 30,000 to perform the first service and ` 50,000 to perform the second service.  

Assume actual costs equal expected costs.  When A Ltd. provides machine services to 

customers in a separate transaction it earns a margin of 50% on cost.  On 1 st April, 20X1, the 

cash selling price of the machine 'model pi' sold to Mr. Anik is ` 2,51,927.  

 The promised supply of machine 'model pi' and maintenance service obligations are satisfactorily 

carried out in time by the company.  

 You are required to:  

(i) Segregate the components of the transaction that A Ltd. shall apply to the revenue 

recognition criteria separately as per Ind AS 115;  
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(ii) Calculate the amount of revenue which A Ltd. must allocate to each component of the 

transaction;  

(iii) Prepare journal entries to record the information set out above in the books of accounts of  

A Ltd. for the years ended 31st March·20X2 and 31st March 20X3; and  

(iv)  Draft an extract showing how revenue could be presented and disclosed in the financial 

statements of A Ltd. for the year ended 31st March 20X2 and 31st March 20X3.  (14 Marks) 

(b) Analyse whether the following activities fall within the scope of Ind AS 41 with proper reasoning:  

▪ Managing animal-related recreational activities like Zoo 

▪ Fishing in the ocean 

▪ Fish farming  

▪ Development of living organisms such as cells, bacteria and viruses  

▪ Growing of plants to be used in the production of drugs 

▪ Purchase of 25 dogs for security purpose of the company’s premises.   (6 Marks) 

4. (a) HIM Limited having net worth of ` 250 crores is required to adopt Ind AS from 1st April, 20X2 in 

accordance with the Companies (Indian Accounting Standard) Rules 2015.  

 Rahul, the senior manager, of HIM Ltd. has identified following issues which need speci fic 

attention of CFO so that opening Ind AS balance sheet as on the date of transition can be 

prepared: 

 Issue 1: As part of Property, Plant and Equipment, Company has elected to measure land at its 

fair value and want to use this fair value as deemed cost on the date of transition.  The carrying 

value of land as on the date of transition was ` 5,00,000.  The land was acquired for a 

consideration of ` 5,00,000.  However, the fair value of land as on the date of transition was  

` 8,00,000. 

 Issue 2:  Under Ind AS, the Company has designated mutual funds as investments at fair value 

through profit or loss.  The value of mutual funds as per previous GAAP was ` 4,00,000 (at cost).  

However, the fair value of mutual funds as on the date of transition was ` 5,00,000. 

 Issue 3: Company had taken a loan from another entity.  The loan carries an interest rate of 7% 

and it had incurred certain transaction costs while obtaining the same. It was carried at cost on 

its initial recognition.  The principal amount is to be repaid in equal instalments over the period of 

loan. Interest is also payable at each year end. The fair value of loan as on the date of transition 

is ` 1,80,000 as against the carrying amount of loan which at present equals ` 2,00,000. 

 Issue 4:  The company has declared dividend of ` 30,000 for last financial year.  On the date 

of transition, the declared dividend has already been deducted by the accountant from the 

company’s ‘Reserves & Surplus’ and the dividend payable has been grouped under 

‘Provisions’.  The dividend was only declared by board of directors at that time and it was not 

approved in the annual general meeting of shareholders.  However, subsequently when the 

meeting was held it was ratified by the shareholders.  

 Issue 5: The company had acquired intangible assets as trademarks amounting to  

` 2,50,000.  The company assumes to have indefinite life of these assets.  The fair value of the 

intangible assets as on the date of transition was ` 3,00,000.  However, the company wants to 

carry the intangible assets at ` 2,50,000 only. 

 Issue 6:  After consideration of possible effects as per Ind AS, the deferred tax impact is 

computed as ` 25,000.  This amount will further increase the portion of deferred tax liability.  
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There is no requirement to carry out the separate calculation of deferred tax on account of Ind AS 

adjustments. 

 Management wants to know the impact of Ind AS in the financial statements of company for its 

general understanding.  

 Prepare Ind AS Impact Analysis Report (Extract) for HIM Limited for presentation to the 

management wherein you are required to discuss the corresponding differences between Earlier 

IGAAP (AS) and Ind AS against each identified issue for preparation of transition date balance 

sheet.   Also pass journal entry for each issue. (14 Marks) 

(b) On 1st January, 20X1 an entity accepted an order for 7,000 custom-made corporate gifts. 

 On 3rd January, 20X1 the entity purchased raw materials to be consumed in the production 

process for ` 5,50,000, including ` 50,000 refundable purchase taxes.  The purchase price was 

funded by raising a loan of ` 5,55,000 (including ` 5,000 loan-raising fees).  The loan is secured 

by the inventories. 

 During January 20X1 the entity designed the corporate gifts for the customer.  

 Design costs included: 

• cost of external designer  = ` 7,000; and 

• labour    = ` 3,000. 

 During February 20X1 the entity’s production team developed the manufacturing technique and 

made further modifications necessary to bring the inventories to the conditions specified in the 

agreement. The following costs were incurred in the testing phase:  

• materials, net of ` 3,000 recovered from the sale of the scrapped output = ` 21,000; 

• labour  =  ` 11,000; and 

• depreciation of plant used to perform the modifications = ` 5,000. 

 During February 20X1, the entity incurred the following additional costs in manufacturing the 

customised corporate gifts: 

• consumable stores = ` 55,000; 

• labour = ` 65,000; and 

• depreciation of plant used to manufacture the customised corporate gifts = ` 15,000. 

 The customised corporate gifts were ready for sale on 1st March, 20X1. No abnormal wastage 

occurred in the development and manufacture of the corporate gifts.  

 Compute the cost of the inventory? Substantiate your answer with appropriate reasons and 

calculations, wherever required. (6 Marks) 

5. (a) On 1st April, 20X1, Sun Limited guarantees a ` 10,00,000 loan of Subsidiary – Moon Limited, 

which Bank STDK has provided to Moon Limited for three years at 8%. 

 Interest payments are made at the end of each year and the principal is repaid at the end of the 

loan term. 

 If Sun Limited had not issued a guarantee, Bank STDK would have charged Moon Limited an 

interest rate of 11%.  Sun Limited does not charge Moon Limited for providing the guarantee.  
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 On 31st March 20X2, there is 1% probability that Moon Limited may default on the loan in the next 

12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 

amount from Moon Limited. 

 On 31st March 20X3, there is 3% probability that Moon Limited may default on the loan in the next 

12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 

amount from Moon Limited. 

 Discuss the accounting treatment of financial guarantee as per Ind AS 109 in the books of  

Sun Ltd., on initial recognition and in subsequent periods till 31 st March 20X3 and provide journal 

entries for the same. (10 Marks) 

(b) ABC Limited granted to its employees, share options with a fair value of ` 5,00,000 on  

1st April, 20X0, if they remain in the organization upto 31st March, 20X3.  On 31st March, 20X1, 

ABC Limited expects only 91% of the employees to remain in the employment.  On  

31st March, 20X2, company expects only 89% of the employees to remain in the employment.  

However, only 82% of the employees remained in the organisation at the end of March, 20X3 and 

all of them exercised their options.  Pass the Journal entries?    (5 Marks) 

(c) An entity has the following trial balance line items. How should these items be classified, i.e., 

current or non-current as per Ind AS 1?  

(a)  Receivables (viz., receivable under a contract of sale of goods in which an entity deals)  

(b)  Advance to suppliers  

(c)  Income tax receivables [other than deferred tax]  

(d)  Insurance spares (5 Marks) 

6. (a) Super Sounds Limited had the following transactions during the Financial Year 20X1-20X2.  

(i)  On 1st April 20X1, Super Sounds Limited purchased the net assets of Music Limited for  

` 13,20,000.  The fair value of Music Limited's identifiable net assets was ` 10,00,000.  

Super Sounds Limited is of the view that due to popularity of Music Limited's product, the 

life of goodwill is 10 years.  

(ii)  On 4th May 20X1, Super Sounds Limited purchased a Franchisee to organize musical shows 

from Armaan TV for ` 80,00,000 and at an annual fee of 2% of musical shows revenue.  

The Franchisee expires after 5 years.  Musical shows revenue were ` 10,00,000 for 

financial year 20X1-20X2.  The projected future revenues for financial year 20X2-20X3 is  

` 25,00,000 and ` 30,00,000 p.a. for remaining 3 years thereafter.  

(iii)  On 4th July 20X1, Super Sounds Limited was granted a Copyright that had been applied for 

by Music Limited.  During financial year 20X1-20X2, Super Sound Limited incurred  

` 2,50,000 on legal cost to register the Patent and ` 7,00,000 additional cost to successfully 

prosecute a copyright infringement suit against a competitor.  

 The life of the Copyright is for 10 years.  

 Super Sound Limited follows an accounting policy to amortize all intangible on SLM (Straight Line 

Method) basis or any appropriate basis over a maximum period permitted by relevant  

Ind AS, taking a full year amortization in the year of acquisition.  

 You are required to prepare:  

(i)  A Schedule showing the intangible section in Super Sound Limited Balance Sheet as on  

31st March 20X2, and  
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(ii)  A Schedule showing the related expenses that would appear in the Statement of Profit and 

Loss of Super Sound Limited for the year ended 20X1-20X2.  (10 Marks) 

(b) The Company has entered into a lease agreement for its retail store as on 1 st April, 20X1 for a 

period of 10 years.  A lease rental of ` 56,000 per annum is payable in arrears.  The Company 

recognized a lease liability of ` 3,51,613 at inception using an incremental borrowing rate of 

9.5% p.a. as at 1st April 20X1.  As per the terms of lease agreement, the lease rental shall be 

adjusted every 2 years to give effect of inflation.  Inflation cost index as notified by the Income 

tax department shall be used to derive the lease payments. Inflation cost index was 280 for 

financial year 20X1-20X2 and 301 for financial year 20X3-20X4.  The current incremental 

borrowing rate is 8% p.a.  

 Show the Journal entry at the beginning of year 3, to account for change in lease.  (5 Marks) 

(c)       Either 

 While preparing an opening balance sheet on the date of transition, an entity is required to:  

(a)  recognise all assets and liabilities whose recognition is required by Ind AS;  

(b)  reclassify items that it recognised in accordance with previous GAAP as one type of asset, 

liability or component of equity, but are a different type of asset, liability or component of 

equity in accordance with Ind AS; and  

(c)  apply Ind AS in measuring all recognised assets and liabilities.  

Give 2 examples for each of the above categories. (5 Marks) 

       OR 

  ABC Ltd.          1st January, 20X1            Shares in issue 10,00,000  

                          31st March, 20X1           (a)   Rights issue 1 for 5 at 90 paise 

                                                                            (b)   Fair value of shares ` 1 (cum-rights price) 

 Calculate the number of shares for use in the EPS calculation for the calendar year.   (5 Marks) 
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